Year 2 — Maths — Lesson 3
LO — To add three single digit numbers

Starter: recap the numbers bonds to 10. Write all the possible number sentences that reach a total of 10.

In todays lesson we are going to look at adding three whole numbers — we are going to do this by using counters in a tens frame.

E Hint — can you see a number bond to ten before you start counting?

15 8+2=10
10+5=15

Make sure you start by putting the greatest number in your head and counting on.
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Can you write a number sentence for each picture?

How many counters in the first tens frame? Put that on the first line.
How many counters in the second tens frame?

How many counters in the third tens frame?

Then add them all up together.




Task 1: Complete the number sentences. Hint — can you see a number bond to ten before you start counting?
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Task 2: Match the calculation with the same answer. 8+3+2=13 < L+ d+9-

You will need to work out the answer to each question

and then draw a line to match up each pair.
4+7+6= 8+2+4=
9+8+ 1= 4+6+6=
4+2+8= \ 6+3+4=13
3J+4+9= 9+0+9-=




